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Successive increase




Two successive discount of 10% and 20% are equivalent to a single
discount of:

10% 3T 20% Ft I ATAT Fe (he THhel Ze & THIT g ?




Three successive discount of 20% , 50% and 30% are equivalent to a
single discount of ?

20% , 50% 3T 30% it AT AR e [FT THFA FE H q0qq § ?
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Two successive discount of 57 ;% , 66 5% are equivalent to a single

discount of ?

10 20
57 % AT 66 % T &1 AT FE T8 THeT FE F TATA § ?
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Four successive discount of 12 E% . QH% , 115 % and 10% are equivalent to a
single discount of ?

12-% , 9% , 115 % 30T 10% Ft T TR e Tt e F q9qa & 2




Applied to a bill for Rs. 10,000 the difference between a discount of
40% and two successive discount of 36% and 4% is

10,000 hY TIFPT 0T < AXE o g , FITH Toh TET 40% T 3R T AT 31 HHAR : 36% TAT4% B |
1 8 o 9 H fohaAT iR 8
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A tradesman marks his goods at 20% above the cost price. He allows his
customers a discount of 8% on marked price. Find out his profit percent

Teh SATART 3T ATHT U HT Hed W 20% 3ATerh 3ifehd Hiat § 98 31U TTgeht ol ifehd T T 8%
<kl T¢ AT 7 AT ITRT TS AfA9Ta Tarer

12%
10.4%
16%
20%
15%
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The marked price of a watch is Rs 720. A man bought the same for Rs. 550.80,
after getting two successive discounts, the first 10%. What was the second

discount rate ?
T Ut T 3ifohd Hod ©. 720 AT, Teh ATSHT 36 TS Rl I ShATTA : T2, o0 Th 92T 10% o7, W

%. 550.80 H TRISAT ¢ , A1 FEI SIZT AT AT ?

1. 12%
2. 15%
3. 14%
4. 20%
5. 18%
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